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B i 1 6-10 6.9-8.2 7.5 s
R E (mg/) 100 <30-73 44 =
BEEEY) 4 E  (me/) 10 <20-20 2.0 e
MY 4EE (mg/l) 2,000 160 — 1300 646 =
Wi LY E (mg/) 10 <05 <05 e
HFEPEE (mg) 0.1 <0.04 <0.04 =
MY ERHEE (ng) 100 <15-16 15 =
HIHE  (mg/D) 20 <10 <10 &
Mea&E  (mg/l) 0.5 <0.3 <0.3 =
RWERHREE (mg/) 1 <0.6 <0.6 s
FHEVEMER] (mg/) 15 <7 <7 =
EEFARE (meg) 2,000 < 200 153 =
Ak E (mg/) 200 <20-21 21 s
A (0) 43 23-30 26 s
T8 (mg/) # - - - -
B

B (mg/) 2 <04 <04 v
#H (mg/l) 5 <1 <1 TE
@ (mg/l) 0.1 <0.1 <0.1 s
#&  (mg/) 1 <03 <03 ye
i (me/l) 2 <05 <05 =
B (mg/D) 2 <1 <1 E
St (mg/l) 5 <0.2-0.22 0.21 =
7K (mgfl) 0.05 <0.05 <0.05 s
#7 (mg/) 2 <1 <1 &
R (mefl) 2 <04 <04 s
¥ (mg/) 5 <1 <1 yass
¥ (mg/) 2 <1 <1 =
A e & E# (mgl) 10 <70 <70 s
B (mg/) 5 <1.0-20 1.5 s
# (me/l) 10 <2 <2 =
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Aldrin (mg/l) 0.01 <0.01 <0.01 =
BHCS (mg/) 0.01 <0.01 <0.01 &
AR LE (mg/l) 0.01 <0.01 <0.01 =
FEZE LG
KT (mg/) 0.1 <0.06 < 0.06 =
EREMELEY
1,1,1- = & Z )52 (mg/l) 0.05 <0.025 <0.025 =
% EME -
% A R 48 & (mel)) 0.003 <0.003 <0.003 &
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(FF) =+4rgEpigfE @
f¥ofr (kg/0.5h) 0.58 0.00 —0.12 0.02 yiss
— & 1B (kg/0.5h) 3.86 0.00 — 1.41 0.08 =
BIf%  (kg/0.5h) 1.16 0.00 - 0.21 0.04 2
AL & (kg/0.5h) 0.08 0.00 - 0.00 0.00 e
ALY
(M= &1L & 5t &) 7.71 0.62 —3.40 1.60 =
(kg/0.5h)
EH MR (kg/0.5h) 0.39 0.00 - 0.07 0.00 =
— & L i (kg/0.5h) 1.93 0.00 - 1.48 0.10 v
(Z) BH¥ME @
AL (kg/day) 9.25 0.32-2.17 0.80 =
&b (kg/day) 46.27 1.28 — 8.58 3.73 =
Bl (ke/day) 9.25 0.44—-2.99 1.88 =
#ALE (keg/day) 0.93 0.00 - 0.00 0.00 yiss
EELY
(L= &1L & 5 &) 185.06 53.44 — 87.67 74.57 s
(kg/day)
A MR (kg/day) 9.25 0.02-0.23 0.09 =
— & b b (kg/day) 46.27 1.54 —8.08 4.42 =
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wmERALEY)
(LA bs &85 5H) 0.73 <0.002 s
(kg/h)
% 1 (DAWR BE 5t 5 (kg/h) 1.45 0.232 s
4 (LA TR (kg/h) 0.21 <0.006 s
R RGORALE (ke/h) 0.19 <0.002 e
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(ke/h) 0.0019 < 0.0003 piss
EESBEEZEH)O:

i (kg/h) 0.0023 < 0.0001 &

EadalEGE _HmNEE =

(ke/h) 0.019 < 0.0020 yiss

& (kg/h) 0.0019 < 0.0001 g

TIEIE (ng/h) 2,891 66 T
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E—a
B i & (7K) (E%TE&SBEJE) 12.2-12.7 12.5 =
BB E I () | e, 56-9 74 =
EEsE
#% (ppm) 0.5 <05 <05 yiss
7K (ppm) 0.1 <0.02-0.02 0.02 =
448 (ppm) 10 <05-22 0.55 =
i (ppm) - <05-4.0 0.75
##  (ppm) - <05 <05
B (ppm) - <1-6.8 1.1
¥ (ppm) - <05-11 0.53
o~ BR8N - B o
B (ppm) 25 <25-84 2.9 =
#  (ppm) 20 <1 <1 P
WAt (ppm) 10 <5 <5 =
A E (ppm) 10 <2-23 2.0 =
#1E?) (ppm) 5 <5 <5 =
E_Ha
HEEMEARY S o
2 (ppm) 5,000 <15 <15 =
HENZEHEE =
(ppm) 10 <5 <5 TE
A1 KX I 44 & o
(ppm) 2 <2 <2 =
% & WA (ppm) 1 <1 <1 =
TCDD (ITEF %) . <1 <1 H
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